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Signature of the Invigilator
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INSTRUCTIONS TO THE CANDIDATE (eg5g08 $iien)

(Read the Following instructions caref ully bcfor(? Answering)
. (morenen JrBod S0l BMHS SrSSess S H0800ENTR)

cparatec Optical Mark Rea ) - Sheet | i i i I

Booklet. P]Easc read and folfg\rv(tgxnrzhﬁélt?::;l 05;115:2 g\ilgli;?vlc? lSl};:cccta ?(;lrlcristiiﬁfgn gngvéglng:ltlisct;;gnig.pcr
wEgihot g’*:lﬁéo 20EOES o BYPES Svb) 686 (LJowh) marew HFo woboudhdd. wiigiied
2T ) 500 Ldoss 2w B0 &) SrsSen wgm H08D0EEBL,
2. The Candidate should ensurc that the Hall Ticket Number and Name of the Candidate are properly

printed on the OMR Answclr Sheet provided to you. The Candidates are further instructed to ensure
that the booklet code printed on OMR Answer Sheet is same as the Question Paper Booklet

code supplied to you. :

©g0 £0wb 2aTreodi@od $ironodd PETod® HFEBRE Soub S0 B BOm Rolf vondy B
© SOLTEIBRH. w8 I DS Ldowd 2Tw HiFo HE SGODI wWEBH F&, 2D PTVEC
D& Z0BoDS wESE FE 2T vonds 88 JoSrBRESSTH.

3. This booklet contains 100 Questions and candidates shall answer all these in 180 minutes.

& ERHEo eEBISS* 100 PHen o BB wzighen Dot 180 DTS 2armen FHOSSED.

4. One mark will be awarded for every correct answer. There are no negative marks.
oS 98 2w wf Srdy Stronoido 208, dSod Hrd) Sl w 3.

5. Immediately on opening the Question Paper Booklet by tearing off the paper seal, please check
for (i) The same booklet code (A/B/C/D) on cach page, (i) Serial Number of the questions
(1-100), (iii) The number of pages and (iv) Correct Printing. In case of any defect, please report to
the invigilator and ask for replacement of booklet with same code within five minutes from the
commencement of the test.
w80 PTd@o wETE adH DEADS Dok e Swwgor (i) 8%0% FerowodS wESE F&
/21516 6 bEp 658 BF 50800mE5BH, (i) 1 H06 100 SH GHen SHI EHod &5)D
B0 H6800HE ST, (i) Hdo Bomg S0 (iv) B SWEE. DI HEYY) Dicires’ B Sdyes FHI
ot weghes S5 HEFBEKR )8 BB 68 (D80S 5 dDTroS” HTHER) SrE)FIBL.

6. Answers to the questions must be entered only on OMR Answer Sheet by completely shading the appropriate
circle with Ball Point Pen (Blue or Black) only.

Hoo BE S wr&Sonoll i) L0esd 2TRodgoD FBM T35 5T DS9S 2w FOoUSTR.

7. The OMR Answer Sheet will be invalidated if the circle is shaded using Pencil or if more than one circle is
shaded against cach question even with a small dot.

5,006 zare S0 SFos' wYSES OJT B w8 S)FSns’ §am) M S Hzmes® DY) ) DET

. BoY BT 9 HrogosTs £0K3005208:).

8. Change of answer is NOT Allowed.

2o I8 éb“géwes‘;ﬁa Soroytao ©fBBoTLE.
> The Ca:didatcs must fully satisfy 1hcm§clvcs about the accuracy of the answer before darkening the
appropriate circle of (1), (2), (3) or (4) in the OMR Answer Sheet with Blue/Black Ball Point Pen, as
it is not possible to change or crasc once darkencd. _
2 ED Boowsb zarend@on Fr000S 2ol BESGE0 SE6M s @égcgw Legor 85 DoD 2T
Beo B devdy erdronoss ayé' (1),(2),(3) B (4) SyEos® 28 Sy J0ER FOoBSDP.
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» Useof E.l'ﬂSCl’ or White F.lllld on the OMR Answer Sheet is not permitted as the OMR Answer Sheet
is machinc gradable and it may lead to wrong evaluation,
Sarer§osdo ofoo Brrdor Bokob o LIoss s S0 D Lowd mA, S MY
THLE 8558 Bb. SEEE
9. The OMR Answer Sheet will not be valued if the candidate:
wigd Ldosd amm SFop & B3I 967,90 B08 ode azmddo srergoddo Bobhud:
(a) Writes the Hall Ticket Number on any part of the OMR Answer Sheet except in the space provided
for the purpose,
£dowss aae G0 Mol PBF0S® 58 SSEIE Foubi Fo HEFosS® 2§ [TRSBIL,
(b) Writes any irrelevant matter including religious symbols, words, prayers or any communication what
so ever in any part of the OMR Answer Sheet,
L0esb 2T JEo R 5’.1)6533(’5@}5 ﬂ'éflm, Doen, e, @gém 430 288 &9‘{)02306335 SErT 8o
@"&3;5226;&3, ' .
(c) Adopis any other malpractice.
De0B08 GoRySERE FeyaSto.
10. Electronic gadgets like Cell Phone, Pager, Calculator, Electronic watches and Mathematical/Log Tables
are not permitted into the examination hall. :
H68 Tre0s’8 Aol JoKE HBETBS odm REFS, wub, sO5HgBLE, ;)eJLs;:OE T, Ke3d/erh
205en @Hlo8old).
11. Rough work should be done only in the space provided in the Question Paper Booklet.
BRPS@o 20EBES* oo DB SrED 69 56, BWEEBH. '
12. Once the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall till the end

of the examination. .
020 2830 Hbg Frend's ©32008 Sord H5r HHrc%0 BPAD SEK 2ALLE HoHRED.

13. Ensure that the Invigilator puts his/her signature in the space provided on Question Paper Booklet and the
OMR Answer Sheet. Candidate should sign in the space provided on the OMR Answer Sheet.
o550 &3 BaDdEo wEBE P Fero00DS BB HE5IEH Ry, Sod¥o ELEIIBH. verd LIosd
2TWHGE0D VG SLroN0DD ©B7F0s® 83 HodEo BoHIB.

o

14. The candidate should write the Question Paper Booklet code and its serial number and sign in the space
provided in the Nominal Rolls. ' '
THES 5E) D VY0NS HBF0S wgh BTHEo 2058 '8 5065 T S Sopgly SHYNV0T
(TP o05BS0 5805 JPFoDS BBFoS* Hodso BoHIB. -
15. Return the OMR Answer Sheet to the invigilator before leaving the Examination Hall. Failure to retun the OMR
Answer Sheet is liable for criminal action and the result will be kept withheld. The Question Paper Booklet shall
be taken away by the candidate and should be preserved till the declaration of results.
B85 Dhen 0D 2oHe’ IPIYD LJowb 2TWIEV) HEIEBRE wo8BHEBK. Ldoess 2arend@o
©oSHDIT ©IghD L0 Wogen BHE S0 néifdod o w8d deod .'Oen:{)aoda:ii:?&
(05 2rE). 0350 & BrREENSH Bot SsBgSHiEteR 050 Sgbed 305 pTBEo

205885 &5 5§ = idm

NOTE: If any ambiguit
version shall be
viz. English / Telugu
BT (B Wi
Do&EoB By
This booklet co

S @D

AN

he text/matter stated in English
let is printed in two languages

oo JI&M oS SBR.
A&/ 68x) SoBosealo.

Pages of Rough Work.
2 Do §0h &3)0.
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Marks : 100

Time =3 Hours

Instructions :

(i) f)nc m"a:k will be awarded for every correct answer. There are no negative marks.
08 B8 2T a¥ 576y Uranoiitio atidod. dwded SIS BTy 9.

(i1) Ch00§e the correct or most appropriate answer from the given options to the following
questions and' darken, with Blue/Black Ball Point Pen the corresponding digit (1), (2)s €)
or (4) in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately provided to you. : '
B NI O PHH BHRES TES* KBS BIEFTEBN 5T T SSalels
vt (1), (2), 3) Bz (4) 3 2y OMR sires HSNS G Sowobody
Sopgiie ey Q0 BT Send) S Jonods "’;aéoul EHBFH0D J0DIB.

1. Ifa+b=landa®+b2=2,thend®+b°=
a+b=1085» 02'+b2=2@wé, @éjé: a5+b5=

21 19 17 | 5
() = @ = B - Ay 2
— 4 z .() 2 (4) 5
2. Foranymnon-zero value of x,
1 ., 1 e
'1+x2+x‘_1 1+x% +x72 Tex 2™
x&oaéz,lb #3588 DoSET,
| 4 1 + L = ¥
14 x% +x* 1+ x%+x72 l4x 245
(1) 0 @ ! @) 1+x24xt () o
34,37 i3 | |
+
3. If - -;3 =X, : 73 =y and z=+/x+y ,then 4(z2+3)=
42 +3)=

(4) 108



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

A-2 Booklet Code A l

-2 -2 1

3125Y5 (243Y5 34 5 -3
lf[ > J +[_] = 2(64)5,1hen x* +1 -
* % 15) 13

-2 =2 1

3125)5 (243)s 34 3 5+ N2

kil — {6 " x“+1 B

( v ] +( = J (15)2( 4) | ®wond, wiydh ( T J -~

(1) 25 @3 (3) 2l5 @ %

5. When a positive integer k is added to 3096, if the resulting number is divisible by 39, then
the least value of that k is

3096 8 28 GSirgroso kD §023 53 508 Sowg 39 B erhotwES, vy © kang,
593 dws ,
(1) 15 (2) 18 (3) 21 (4) 24

6. Ifrisarational number whfi)se denominator exceeds its numerator by 3 and if 5 is subtracted

. . | 5
- from both the numerator and the denominator it becomes 3 then r=

28 0E880% Ropg 1 S T30 T 0S50 SoB 3 53 $od Sbai» & dopg

. 2
Ghof, ©SSar, HEEne Bodols 08 5 EHIcHT €8 T wHod. eyt r="

14 20 : 11
M 3 @ = G) o @ o

7. If-71—== 0.142857, then

0.00007

1
L] =~ 0.142857 wond, iy
7 : U

(1) " 14.2857 2) 142 1428.57 (4) 142857

—
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f r is the rational number which is the reciprocal of the sum of the reciprocals of th
e

4 5
numbers 3 arid =, theq the digit in the fourth decimal place in the decimal form of r is

4 5

@q‘;éom &o0d ©08
(3) 0 4) 8

wldBoD dopg I eIB, Dogeo

g;‘gjéa r Gy, dzo¥ Erdod® oS dTod
) 3 2(2) B

al system are given by a=xxx3%,,

If the natural numbers 4, b, ¢ and d, in the decim
=xp+1,i=1,2,3, then the H.CF. of

b= X4X3XpX], € = XX X3 and d = x3x,x wherex;

b—a d—c .
=——and——18
9 9
S5 dopgwe a, b, ¢ 500030 d o, SroddrSost a=xXyX3%, b= X423,
=x,+1,i=1,2,3 0owd, 28
9

¢ = X)XpX3 $00sn d = X3XpX T A 0050 BRS* X, 4

$5005 i!-g-c— o K.

1 1 (@ 1 3) 22 (4) 33

10. Ifaand b are integers such that a* +b> —30a—20b+325=0, then the GC.D. (a, ) =

=0 eyt 0B, et fFa. (@)=

oosens g, bed a2 + b% —30a—20b+325
4) 20

(1) 5 2 10 3) 15

11, Ifthe L.C.M. of two integers both greater than 1 is 1517, then the sum of those two numbers is
] 0B g3 Dot WrIo5"e g, 1517 wond, wdyk & Bod Bopge 30Eo
(1) 58 (2) 68 (3) 718 - (4) 88

e

12. If5x=4y,then2y:3x=
Sx=4y wond, LI 2y SN
(1) 15:8 e o

T
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. . - hen the sum of 't}
13. The L.C.M. of three numbers which are in the ratio3: 4 : 618 144. T : Ose

three numbers is L
- % & 2N
3:4:600)8S® &) Sordo Sopge Ear.H. 144, wdyds © Dl DODY go

(1) 144 @) 156 3) 164 (4) 288
T Ty

14.

The ratio of eamings of A, B, C is 8:9:5. If the eamnings of A is incr(iasfd E;l}’ 50%, the
earnings of B is decreased by 25% and the earnings of C is mcre_ascd by -’O_A’a_t - the tflJtal
carnings of A, B, C becomes Rs. 28,052.75. Now the increase in A’s earnings (in Rs.) s

A, B, Co Sodrdso )8 8:9:5. A By, 03835 50% OA, B (%, Soas 23y,
8f SoBaso C o8y, So>6S 30% 2BASH MW, A, B, Co 3ngo S0ES &, 28,052.75
LONE, B A JorESeS® DG (Brnees) _

(1) 1,111 - (2) 2,222 (3) 3,333 (4) 4,444

e —————

15.

A company designed 100 triangle shaped metal sheets of the same size in orange, white,
yellow colors respectively in the ratio 2:3:5. The sides of cach triangle are in the ratio
3:4:5 and each of its perimeter is 48 units. If the costs of orange sheet, white sheet and
yellow sheet are Rs. 5, Rs. 2.50 and Rs. 4 per sq. unit respectively, then the total cost

(in Rs.) of all sheets is :
o8 €00 a8 Pwe'd 100 Beberssd S dhob, &Bo8, Bewdy, DoY) Gorhes*
SOIM 2:3:5 9y &° Erd8eyd Bod, B8 |BzHabn S0, gheren 3:4:5 1YY
B0, BN HAT oty Fod 48 BTV &0b. eBoE, Beny), HY) Lok
BHoe 28D, 28 $.0500°A5K, SHBT &, 5, S, 2.50, 8. 4 eond ) SSHe Bo¥)
S0go B (Erneres?) : |

(1) 63,000 (2) 36,000 (3) 12,000 (4) 21,000

16.

LTS

In a college the ratio of boys and girls is m : n. If 35% of boys and 45% of girls got
scholarships, then the percentage of students who did not get the scholarships is

28 58S’ erendd, wrdLe 08 m : n. 36e5° 35% 08, 45% 2r@€exn & IS5 EREN0
F0b8, GITEISS0 o AT gHe TEo '

(1) 13m+1 Lngeess ' e 5(1lm+13n)
m+ AR . B -+ 1
(3) (3mlin) (4) _mn

m+<+n

o 6-A

:

b

B o RS
_- £ T— R - L
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of 770 by 17, then.x =
go8 17 8898 wond, B X =
15 (4) 16

1fx % of 670 is less than 17%

670 & x % e T106° 17%
(1) 17 (2) 23 | (3)

17.

: ; .
3. Raja’s salary was educed by 20%. Then to get back his original salary the percentage increase

on the reduced salary, is

20% éQofSaa&o&. & Jrdg) o 86 Fodws, SRoNS £do D DotSed

oo £80

F&0 :
(1) 20 2) 15 3 18 (4) 25

selling a T.V. at 10% discount on the marked price of Rs. 50,000.

d, then the profit percentage 1
% AAY0LNE BINEo LT 20% oo

19. 20% profitis earned by
If discount is not allowe
. 50,000 © PEES $8 89N o€ 8.0.0 10

8. Esitr?,oé.m:éa adgEoom God S8) ereST S0

RIANe
| | . 4
(1) 331 @) 27—
3 5

gt A 1.
3) 28— 3
(3) 2875 | (4) 2? .
Rs. 2,000 and sells itto Y at 25% gain; Y sellsitto Z at p% gain

20. X purchases an article for
and Z sells it to T at 20% loss. If T pays Rs. 2, 100, thenp =

X o8 6358 2,000 rdroDoss £, 25%. ards Y& wsoyr, Y odd phoe
$ w208, 20D 20% 308 T8 odm. TIGoDRE &, 2,100 w008, B3 P =
(1 11 (2) 8 B0 ORE

_ e ge s

21.  Amixture of 20 kgs of powder of two varieties A and B contains 10% of the variety B.The
amount of the powder of variety B (in kgs.) to be added so that the new mixture has 25% of

variety B is
A 556050 B @3 ot &
838 B 660283 o8
50sre0 (8.fr.08°)

1) 1

8 Z

$50e5* B goard 10 a~éSo ol
ggo 25 a‘e‘éo!@é)e‘iaoé‘, &

00 8008 20 8¢5%e 2

4 4

WA

[ —
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- : nixture with 94¢
22. Two solutions of 90% and 97% purity are mixed to mak_e 21 lm‘EES tsfc] o 7
- purity. The quantity (in litres) of the 97% purity solution in the miX

550 @3
20%, 97% w5:9)3 SRS Dot @semes 503 94% t5y Ko 21 OUE, D Erifes
Sointh B0, & DESHOS 9% K oGS0 Bo8mmo (BEES)
(1) s @ 7 3) 9 (4 12

23.  Avessel contains a mixture of two liquids L, and L, in the ratio 1 1 : 8. If9.5 Itr. of MiXture
is taken away from it and it is replaced by the same quantity of liquid L,, then the'ratlo of L,
and L, becomes 11 : 12. Now the quantity of L, (in litres) in the final mixture is

a8 PES* &8 L) $o80%n L, ©3 3o Eare DFSooes* T8 g 11 8. @R Sog
9.5 dv¢8 DFSTR) 81T woB H85rooKe L, 8508 &8 B oy Ly So8ci L, e
V8 11 : 12 0H&o0s. adyds ©od% DFD0S* L, Hosrmo (dLrges?)

(1) 435 2) 345 , (3) 36.5 (4) 285

—_—

24.  Pipe A can fill a tank with chemical X in 30 minutes, Pipe B with chemical Y in 20 minutes,

and Pipe C with chemical Z in 10 minutes, Ifall the three pipes are opened at the same time
~until the empty tank is full, then the ratio of the chemicals in the filled tank is

28 Ergohd A eF 1 svonso X & 30 diwes'se, B wd D ErcHIo Y &
20 dos*Sor, C P 2 oS0 Z & 10 dierest Sy DoDdKOY. 28 505065 e Sk
DYoLk d ergod dod S8% 28D @008, ok ST &506\36‘3 SFrohde
NENTY ' '

(1) < 3:2:1 ;. (2) 2:3:6 3) 1:2:4 (4) 3:4:5

25. ApipeB ﬁ11§ an empty tank 5 hours faster th
- C. If the time taken by the pipes A and B together to fi

A 58050 C en Eé 030050 (ﬁoue.:eﬁ‘)
]
= 2

€y -3 (49 e

LT

—
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5 days working alone 12 hours a day. B can finish the sa k
me task in

4 task in 2

rking alone for 12 hours per day. A and B are em :

o or ' ployed

| and A Jomed him after two days. If B works fc:ury TS ltlc::uilsu;}:i;he lagl;;
y an

works for 12 hours 2 day, then the ratio of the parts of the work done by A and B after 7d
ays

ining of the work 18
spdo 12 ROLO Ay B 25 Twod’ Y BohKod. Ba)d «d

400 528 12 foo® SEyS BR 50 5“&0‘&5‘ 448 Dohifod. A 08050 B & 53
08500 BT B o 53 3ndeoads 2 Fwre S6ad A ©8Q8° 5@;
So38 Soda A et 12 Kobro THYS 5 Ty, 2

oo 8S 7 S s6TE A 435050 Ben 328 39 e 38
(2) 20:21

(1) 10: 1]
(3) 18 :23 (4) 22:25

If 5 men can build a wall in 20 days, 8 women can build the same wall in 25 days and
10 boys can puild the same wall in 30 days, then the time (in days) taken by ateam of 2 men,
6 womeri and 3 boys 10 build the same wall is

5438 D0 o, & At 20 Fawosisr, 88 oo 8 Sood @m 75 Saretsr 528050
10 Ho0b erend wd Hd Hodoed, 68 L?_gm

1.

30 Saros S &)Ogod{iaﬂé‘ Claley
& 8 Ro Dﬁéodcs‘&)g 58 5700 (Swod’)
(1) 20 (2) 10 :
(3) 12 4) 15
P T
fsize S, then the time (in hrs) taken

28, If17 personsin 17 hours can paint 17 identical rooms 0
by 150 persons 10 paint 150 identical rooms of size S at the same ratc is
S* P S & édﬂgé;’):‘éoﬁ'é)él 17 e o 305608,

S e xoas 150 ‘{365;6;53‘:6@26 Kod Gord

%5005 S8 erendd o w8 283

17 ob ;5555_\3&» 17 tobo®

=

150" 5508 ©d Bend LAV SgR
3oms S0 (Koo’

(1) 150 @) 17
150 17
B 1502

LT
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29. Three persons P, Q and R individually can complete a work in 20, 15 and 12 days Tespectively.
Q and R started the work and left it after third day. The number of days required for P
complete the remaining work 1s

Soorpdo Sg8gen P, Q 00 R e o 598 S8IEM S63m 20, 15 Hbckw 12 Eaey
I8 Boied. Q,R oo @ DAY @Eodod Hurdh Swe Sud TAQ 569 IGFasrg,,
DHOS DI P Grg Boirds wsdsdy Fwo dopg

1 14 @2) 11 | 3) 9 @ 8

30.  Atrain takes 25 seconds to cross a platform by travelling with a speed of 54 km/hr. Running

at the same speed, it takes 14 seconds to completely pass a man running at 9 km/hr in the
same direction of the train. Then the lengths of train and

platform are respectively
(In meters)

foa%o 54 8.00. IK0&* (HosreBoB 28080 28 FETDD TETAE 25 DESIe0 HrK108,
©3 IKos® D w Benddy, Hotodd 9 8.0, IKoE wd BFS® SBABSS) 28 5032
YT TLESE, 14 DEHer 5808, wiyd © Doo Sk FEFSo0 FEHeo
360 (Dotage?) .

(1) 210, 140 _ 2)

175, 200
(3) 245,130 - (4)

175, 375

31. A person travelled 12 km at a certain initial speed and then travelled 6 km at a speed

-2-kinph faster than the initial speed. Had he travelled the entire distance at the increased

speed, the time taken by him would have been 20 minutes less. Then the time (in hours)
taken to travel the entire distance with initia] speed is

w8 558 Fod 8oy FK0s’ 12 8.0 Hoire3ons S8, |Fbodf IK08o8 Kotk

- 8.20. J8 S BKos® 6 8.0, PSrBoards. & ANEo &ro7R) DoAS K0S’ Hasredod

08, ©8d8 20 Juen S50 S HHoo%H

0 DF&oud. ey @6os IK0&'I Tndo Erod)
(BoSre30BTR8 S5 :

5 4) 3.5
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game amount of money is givento A and B at the same time. After three years, A paid i.t back
with a simple interest of 10% and B paid it-back with an interest of 10% compounded

annually. If the difference of amounts paid by them is Rs. 46.50, then the amount (in rupees)

given to each of them initially is
i AEOESEE SR 9O A 508050 B 08 candiadod. S5k Sodgore dkhad

10% Eydg;’)%é‘ &90535 BoazR) A %8050 Fos 10% zﬁ@é%é"’ @6335 3wed) B son
390, T BYoDS ZnEo oy Bo 46.50 Eri0008, 08 289808 FSooss®

A S0y (BrFroDe)
1y 1250 @) 2,000 - (3) 1,850 (4) 1,500

rrowed some money for simple interest at the rate of 6% per annum for the
per annum for the next five years and 13% per annum for the period
I interest paid by X at the end of eleventh year is Rs. 8,160,

A person X bo
first three years, 9%
beyond eight years. If the tota
the money borrowed by X (in rupees) 18

X 03 a8 538 Fod FB0H I 568, 306 Sordd J0S5HT O i 6% S§0L0S S,

T8 o HoIGT K e 9% 5@6@5‘& 508050 DAY DoSEyTro $eoHd
cerd Dér 13% 5%3&.336‘&“ SR SRE T, 585085 dosdorodos® X BYoDS
3wgo 5§ 6. 8,160 e wond, X wdym SEF) 500y (ErFaDHS’)

(1) 10,000 - (2) 17,000 (3) 8,000 (4) 9,560

34,

35

S

o

If the simple interest on Rs. 1,750 for 3 years at 8% per annum is half of the compound
interest on Rs. 4,000 for 2 years at x% per annum compounded annually, then x =

w8 8% w&:é%é‘ Sorchy Sodorese 1,750 ErieR ©adY 5%, Ner x% & FOT
5§54 feBoDSHyE Bodd Sosgoets 4,000 xR wdig 3&¢° difo 008, eByd

X=

(1) 11 - () 101,:— (3) 10 (4) 12

er annum for two years. The

A sum of Rs. 1,600 is taken on compound interest at 20% p
interests.ca od.onannually compounding basis

difference amount (in Rs.)
and on half-yearly compou

20% H058y08 B &
38 HoS3SyraFE>o B8
Ddgho Sgemgpo TS0y
(1) 74256 (2)
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36. AandB entered into a partnership with capitals in the ratio 4 : 5. After 3 mon

onths from then, they shared
5

the profit among themselves. If A’s share of profit is Rs. 330,
(in rupees) they have earned for ten months is

4:5 De:g_,es‘ﬁe: Larodaod A 0005w B e 8 arﬁ@sirgﬁh e80NOT . Doy

] .
2 of his capital and B withdraws _ of his capital. After 7m
N then the _total profit

]
3o SHaod A o8 :'m‘ocﬂiéo 363089 Z 3 ;Soéoéa, B u8d doreddo Hod 75- 4

Sodoss 358, BSemh. BB S04 T Foo SHTE, TEH TR SoHHITW.
A i oo 330 Erien. wond, 10300 5°erd§ o6 S80S Ingo wrgo (Erdrehe)
(1) 800 (2) 750 |

(3) 760 (4) 740

37. Aand B are partners in a business. A invests Rs. 12,000 and B invests Rs. 20,000. Outofa
total profit of Rs. 9,600, A receives 10% of the profit for managing the business and the rest

of the profit is divided in the ratio of their capitals. Then A’s share of amount (in rupecs) in the
total profitis =

28 ;{‘gavdoe.?‘ A 508050 B oo grifargines. A Dinad 12,000 Srneo Soboso Baén=d
20,000 e, 3ogo orgio 9,600 Sriwd’, agFrord) SdoPdodtorss oo
10 Q) A Fosm DADS A 6 Digade IQES” JodhF . wdpk odo
eos* A Fod e (S Srcse?)

(1) 5,400 - | @) 4200 ¥ o%

(3) 3,240 (4) 4,500 |

38. Ifasideand one of the diagonals of a rhombus are respectively 5 cm and 8 cm, then the area
(in sg.cm) of the rhombus is

8 :0537:5953632) '

A

603 5 Do, Sodosw
RO, ©e?)
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as shown in the figure below.
oS Wrhd Erdos’ God.

20

39. Theshape of apark is
28 &D"gfsﬁéo, &3 Lgocs 5

20

[f the shaded portion represents the area covered with grass, then the area (in square units)

uncovered with grass 1s

& Sobwds o, K&&° E5y08S EH‘%O?&J
F Rg), TG0 (S88) ot_i:o*&)%ai‘) J :
(1) 212 (2) 102 (3 198 - (4) 52

B0, &97.’3353 HGS' Y8 rKS0

40. A window is in the shape of a square surmounted by an equilateral triangle such that their
vertices coincide. If the perimeter of the window is 6 m, then the area of the window in

square meters is 3
2§ 8638 w560, WDERS0P JoS0m od ghudn Fdhro w8 Jddoerdo (Bebasod

| & Bododd 3¢Soen 28giDothHSam S0DS ErHos® od. 863§ BwE), J88 6 doiwond,

5669 DS © 888 @Y, FTeg . |
(1) 143 () 206 (3) 268 (4 288

41. A cubeisbuiltusing 216 cubic blocks of side one unit without an)} gap in between. After
it is built, one unit cubic block is removed from every corner of the cube. The surface
area (in sq. units) of the resultant structure after their removalis
w€ oS goudom fo 216 25576 IS HogigS” goden BKoT wE NTR)
BT, ATyEn SGTd IS0 g, ©HE Sre Sod 08 OSrdE DT
B3y Fohomd. TEY FoNodS EGHTE. A6YBS doymo @Y, GROSL FTOF
(5. 0SrdLe?) '

(1 192 (2) 180 (3)y 216 - (4) 196

42._ If the measurem
needed to build 2 6 meters Hbu eter 1s
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_ olumes, then the ratig
43. 1fahemisphere, aconc and a cylinder have cqual bases and equal v ’ of
the heights of the cylinder and the cone is

' BOS0 HEFE «
o8 egin, uf fomod) HoDon B¥ Gypbin Hird EEENed B S B
@ o
S0Sreren §OA o8, E&gé&’m 00050 Fogod dheo I -
(1) 1:2 @ 1:1 - (3) 2:3 4) 1:

e
44. A circular sheet of radius r is divided into four equal sectors and one sectqr 1s removed,

th
is then folded to form a cone such that the perimeter of the base of the cone is (Z] of

the perimeter of the given ¢ircular sheet,

Then the ratio of the slant height and base radiyg
of that cone is - |

‘ogdgn‘ B0, 2.8 "cogdo e,rrrv;h

% S8 g 08
(1) 4:3 2 1:4 (3) 2:3 (4) 2:5
—

() 2 (2) 12 3)y o ' 4) 1
46. 1If (x,l ¥:2)= (0, B, ¥) is the solution of the simultaneoy

s linear equations 3 4 4y + 5z=-2,
X+ Ty+z= and x 472 CRMEE 2%

3x+4y+5;= —2,
(. ,2)= (o, B, ¥

(1) 0
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O’clo.ck and 9 O’clock, when the times at which the minutes
sbe

A7. etween 8 : |
11720 with each other are 8 hours 7, min. and 8 hours £, min., then #, + £, =
[4 ) 2-
g Hotoww 456050 9 Hotoo 5085, AFe SN So005 fobe Somes akmas
77°0 5600 3%y pdoosren 8 fobo 1 e S00w 8 Hobe ¢ R);b& & 2,68
2 VDD BonSisyes
874 960
— 2
M 1 @ T
748 ' : 295 |
i oy
() 13 W
e

48. Thetime be

tween 2 O’clock and 3 0O’clock at which the hands of the clock are in a straight

line but in opposite directions 18

9 . :
(1) 2h 4 min @) 2h 42111min.

1.
(3) 2h 431—1mm. (4) 2h 42%min.

2 Hobre 08050 3 Kobe ;’15::55 KBoSrE) Snened w8 S EEBpest Sobar, H3808 &3S

ﬁélé,)ﬁ P Tovelol '
9 ) &
(1) | 2 Ko. 43ﬁ Q. -' 2) 2:.a0 42-1 Q. k. O & = \E;’)
200 132 4) 2 Ko. 02 2. o §
11 A o g
. 7R
_/’/{—"'

49. Ifth b g L :
e number of times the hands of a clock coincide from 6 am of 5th August 2021 to 6 am

o

of 7™ August 2021 is », then n =
2021 estfdn 5% -
Q5 80 &doho 6Kobe S0od 2021 sy 78 38 &80 6 Kol oS8 2.8

: iozij;?ogsa Sodsioeger in S SUERE ©IYE n = 730\1\\
(3) 33 L R
| O ) Q'\}’V'P 5)59'\/]
IO AAn A e >
: &~
L )
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50. Theaverage wc1ght of45 students in a class is 52 kg. Five of them whose avcrarr(;: :}‘1 ¢ dht is
48 kg left the class and another 5 students whose average weight is 54 kg joine dss.
Then the average weight (in kg g) of the present students of the class 1S

w8 SEA8S' 45 Ho0d g dKLn w8y 52 B2 0S¢ 48 o Jrkn 2&Y Ho
IHE & SEKBD 58D IYFT, 548de SHwn wbHY Ko $HE 5K JTgRes I
SEKES* Bordh. PRS0 © SEKaS” &%) dorghes e w6Y @)

1 2 2 sadk
(1) 523 (2) 533_ (3) 523 (4) 3

Answer the questions 51 to 55 after carefully reading the following information.
Five persons A, B, C, D and E are as follows:

(a) Eis intelligent than D but do not get as many marks as D.

(b) Cisintelligent than A but not as intelli gent as B.

(¢) A gets more marks than D but not as many as B.

(d) E gets less marks than C who gets less marks than D.

(e) Eisless intelligent than A.

$ob DI o) EGT. $6D, 51 K000 55 56585 Ko BHos BTad50),
DD SgSoen A, B, C, D, Een 80 Do GI:

(@) D&o8 E893355a 520 D ToBIY) Sre o0 FosSd.

(b) A %08 Ca393553 50 B wod 8IIST % ¢,

(¢) D&oB AQ&zré Srdyen Foded =, B FoBI) 5°E.

(d) D &8 #5985 Sortpen od C 508, mo5° 85,5 S8y e E Sodoes.
(€) AtoB E 885 80356,

51. The person who gets least marks is
wdgod SE) S Srdyen Fod 558

(1) B @c 3 D A E

52.  The person who is intelligent than all the others as well as the one getting the highest marks

1S : o
DAOS ©oKkBEE @@lif? T8 08508 Sréy e §&ra Fod S8 )
(1) A B (3)-ile 4) D

L
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. BOOk]Qt Cﬂde
|| the persons stand in a row according to their rankin
Ifa :

8 inintelligep,
i | e
.]] thc nﬂddlc 1S t] thcn thC pcrs{m

phE lv1 '
:;;:J dposh Tgof0 SIIOM VOB Si%en 0¥ Syt Veoiog, g
L N : 3 Jéorp 5)
4c8 | et
508 P83 _
L - 2) B 3) C @ 1
The person exactly in the middle, if all of them stand Inarow according to ther. ., .
* the marks 18 o ' W Tankings i,

S0 0 TOE IS TYORL ST Fehottr 8 sges denos, ¢
1 Suthé
Soiges* €08 558 i, (o
(1) A ; 2) B B) € | M
___________._—:——— - . . -
55. The person who is the second ranker in'intelligence and the fourth ranker ip
s

8928LeS” Bo& U0, Sordy ok &:(cs;f SRSV T°g050% Ae 358
(1) E- (2) D C 4 A

getting marks

Directions: Fill in the space marked as ( ?) with a suitable natural number from the given options
i each of the questions 56 and 57 and write it as your correct option.

BriSS: 56 508050 57 RAHOS' (7) & K80S =, PO Hira Dowgs® ad)S sdsoibod
0, TR Ny éa@:é aaribéorr“ oo od.

56.
2B |23 far|4ar|  |29]17|35| {33[43]19
kd 39 | =l -
M 6 @) B . v @yaet i @Y .
4 i . g
O O
5 R 1
6
H" iy g @) 12 : (3) 1:”/(4)1/."/4
||\||l|||l|||\ll||IIIIPIIIIHHHHIIII -
‘ 17-A

o
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59

. mbered 58 and 59.

Read the information given below and answer the questions 1;::“ > ¢ into smaller cubgs eacp

A cube of edge 8 cms is painted green on all its faces and { )-‘ of
edge 2 cms. The smaller cubes so obtained are separated. ._

& 0B BErTGo $BI, 58 8ok 59 HHLs BTedY =
. Z)0X0 .

8 200.0. ®otKL w8 WIdo BNE) ©J) Syparedy s¥d) SoiHs’ EJJ s oy

509 2%0.5%. woth DA% DE) DS TR B SOS DY) WTOYS gy

. k-w% ;
@ 58. The number of smaller cubes cach with three faces painted greelj 18 ) Q \
_@’Jé’sg“&i R0E), me@g TSI Sof s ﬁ)sﬁﬁl DT0 VoS | ngg/
8

v
(1) 4 3) 1 - \@A
hy(

59. The number of smaller cubes with no face painted is WV
Q SoupSsnnT Sofh BHow &oB DX DTv Doy :% |
1) 6 @ 8 (3) 12 @ 16wy

Data for questions 60 and 61:

Seven persons P, Q, R, S, T, U and V teach seven different subjects: English, Hindi, Physics,
Chemistry, Biology, Sanskrit and History, from Monday to Friday. Not more than two subjects
are taught on any one of the days.

Chemistry is taught by Q on Tuesday. S teaches on Friday but neither English nor Hindi. U teaches
Physics but neither on Thursday nor on Friday. P teaches History on the same day on which

Physics is taught. R teaches Biology on Monday. English and Chemistry are taught on Tuesday.
V teaches on Thursday.

60 So0csn 61 PHos derodo:

Qb Sggoen P, Q, R, S, T, U $080sn Ve FSado Ko HET 60 S8k A 3630
dytgen THTH. ©I Gofw, '33“05,’5"@5*&*@0, STchRs FRo, £ TRo, doddo $26050
BB, D w8, ek Bodh 0B IS Juo STHoHG.

Soofidarto Q 6FodE o FoRdd. S HETGo SO, wond aohfoma, obmd
S B0k, U a‘;"@§a~@o TOTE, Wond KHTEomry, HETEomr zﬁ"&)z S, FT8ETRO
500D &SI P udg ok, FdaSomds R 2870 0. Sook¥ado 200
Hobosn ERroRdIETRo Fhodaderon. V htiTto S568 Ban.
o - N
60. Which of the following pair of persons teach on Tuesday? v /
& Bob TS D 28 Sghen HookFT o SBTE?

() S1 @) QU BT (4) RT

NN

18-A

»———‘
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On which dd (2) Friday
M (4) Saturday
) Tuesday
L_‘!

y Ganskrit 18 taught?

S S HotREE06?
(2) ®dE>8o
(4) 480

N a—-uo’o
() B
(3)
o : | _

s for question 62: |
e in the first pair of problem figures bears a certain relationship 1o the firs;
& oure. Similarly, one of the figures in the answer fi gures bears the same relationship to the firt
gir-e' in the second pair of the problem figures. You have to locate the fi gure which would i

Hglihs

in?o the blank space marked with (?) and give it as your answer.

jJOt‘;QlfI:‘CSO

Direction
The second figur

62 @;ﬁéo A .

S0 BR6E adSod fo DEOS® TokS HLINISH TnEBsLINE 28 gy
400850 Kok, 8BGO, 23720 ILINOSA 28 HEID0, QJFgHELI0S’ A BolS 2 D
20685008 SBIGS BowosTR) $Oh &od. (7) K&K 3@ FIS0s* 5058 S
E05)0, TAV o ddrgrSor QSg08. ‘ '

62. Problem Figure :

Soing B0 §.
REIVE
© Answer Figure : }
e dbo
, -
iy
8] [9] &
u)(Al ) © |
- 2) B 3) C 4 D

LT
- |

19-A
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: ions 63 and 64.
Based on the following sequence of numbers, letters and symbols, answer the question

o8 RSwdS Sopgwy, BESSM H8c5w bodore eHEH0 srrdsnm, 6350050 64 BHok
s, T L 0

DSrmso wdg0d.
‘-\*Bca-z?1\f6@1£8MP$2YTTW14:.9+L{Q3D:&HﬁNleJJ’

63.  The number of distinct symbols cither immediatly precedcc_l_or immediatly followed by a
number is - '

28 Jopgd IHToLT 00 ¢od Bo DHTobS 3 X580 SHd Mo
3 .

e\/ﬁ4 | Cers

(3) 6 (4) 7

64. The 22" element to the left of the 8™ clement lying to the right of ‘U’ is
U8 %8358 85 Surosinsts JE5D9SH0 225 oo
(1) E | 2 6

(B
(V\.z@')/@ | @ 8

In questions numbered 65 to 69, sequences of numbers or letters, which follow a difinite pattern
are given. Each question has a'blank space. This has to be filled by the correct answer from the
four options given to complete the sequence without breaking the pattern. ' '

65 808 69 56% o BHoS® Sopgemd, OETROMTA, 28 PR S (558)R Foideadn
&) ODESTer 2T, (B8 HHS® .8 TV S08008. BHEDHIHETIE Foro S0,
s 79 QNS T DINETO S00d HBwond TAS Hroomd.

a\ v
\< s B c‘y\ \b
65. 6,21, 52, 105, ) e \%/“‘\3"
(1) 124 ; (2) 138‘ bg g%
(3) 154 (4) 186 . e o
S
>3
66.  75,105,165,195,  _7gs X 2
(1) 215 . () 225
(3) 235 | (4) 255

—————

L T .
i
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A BOHP,CPLX. DIPE |
7. A e (2) EKNT - |

U NEJ;E | - (4) EISM
@/’/j’ff ' | & /Aﬁgﬁs
& : )

oy =
68. ,(1)’£HEU %\ (2) HEV ) U‘g\t) E’\%
C s GAT (@) GVT 5y @
AP ,
N NaV
$(1) EFH . qz/ HFE @4\ ‘°
(3) FEH . (4) HEF o\’ :
t? f - _ / Q—QL Q‘&\{\\'b \
& e

Qucsuons from 70 to 72.
In each of the questions (70 to 72) there is a certain relationship between two given enmesqé
the left side of (: ). On the other side of (: 1), the correct answer is to be chosen from the 01\!@

options bearing the same relation that the pair of entries on the left side of (: :) has and giveitas
your answer. ' ; :
70 SHod T2 388 o PHO Qe S

10508 T2 566 fio ©8 BRSO (: ) S8 b 3 A Tod woiineh DS at 3
Soaolo &od. (::) 8 B0l IS, &8 mﬂa?oai:ofs (::) 3% 85 IYS Ao a8 woTo .;’m;SSﬁU

Directions for

@oaaor,)"?)nl @Eaﬁ)oi)oﬁémn'“ RO VITrT T R) JoHER, T°AA N 2T Q3508 '5
7. BCR:L : : @ %*w’
(1) FGQ H ﬂ,tn Qqt | -
(3) DET:P o & o e 6@
: g 19t (4) CDN:O LA
113 ClIF - 3K6
. i § ' - 4
@ (1)‘1 D12G:3L7 (2) 1(}13“ 7 Ih/ /éiu{
(3) C14D: | | —_ Y
2 7. 5MS %
S %
N 5 .’.‘a- \So

(1) 286 - o\*\ E 2 ¢ ¢

(3) 306 ' /9 (2) 296 b . \/.9,
[T > i N
: \ T ) _}’,

‘ o e s W
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I. each of the questions from 73 to 79, a question is followed by two statements I and II. Give
n .

your answer as
(1), if the statement I alone can give the answer to the question;
]

(2), if the statement II dlone can give the answer to the question;
(3), if statements I and I1 together only can give the answer to the question;

(4), if statements I and II together are also not sufficient to answer the question and additional
information is needed.

4

73808 79 365 fo B8 BHSEr, o8 64 dos Bods BSSTeo 1, 1T asgebaron.
B35S0 183 & OH SSrerssnts asghons (1) w:
5550 11 83 & By SSrmsmI5HOnE (2)

\

@&5560 LI e.n‘Sn 80808 80508 w ©#H% RErTSDSKOAE (3) wd;

RSSSo LI en Bodse SRET), 20508 JB3rTEIn0T 83), & PH% RT20RIBH R)G"&'f'
(4) ©8; B BErTSSom 25¢0b.

73. " Is the perimeter of the rectangle more than 65 cm?
(I} Itslength is less than 16 cm,
(II) Its breadth is greater than 10 cm. _

| @ BY, BEEEIN HRTOS 65 Ho.Bo Lo ©BES=?
D =0 69 16 0.2 g5 889, 3.
) =2 3desy 10 0.8 €08 289 5.

74. Isb>a?
(I)  x+3isafactor of x° = 27
() x-2isafactor of ¥2 — 4a°
b>aewHson
M. x°=27" 0%, 08 seamogs 1 4 3
D) »* - 44 RN, 2.8 S°8egr08K 1 — )

e

MR

| —

——
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many Sundays are there in that year?
February has 29 days in that year.
(1) The year starts on Saturday.

; -’osﬁeg\)dénes‘a BT 65000 I?
sesEiins’ DRt e 20 0ER tUN S0

7 5. How

,oo;se,n)cs:,sn F0a608 DNEBID.
76, Xt X +Xy ¥ ¥ X107 S and x; =3, then what is the value of S?

IO +xl +“"2
0 = 3%

it X =S .‘.‘335&33 1’0 =3 zowd, sy SNE Jend ;)osjv
-y forn= 1,2,
(10 x>0f0rn—l D ]

e
+77. IsAABC right-angled?
AABC von§'e (@a0ea?

1 |A=2B
B=-1C

78. Is a% of b equal to s% of 1 ?
b 3%, a%, t ), s%USE SSrIa-?
(I a+b=s+t

W) abes |

——

7 - .
9. What s the integer value of m?

m &), FTos Jend Joe?

1 ]
) =< !
7 2+m<2

\

LT .
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s labelled as Assertion (A) and Reasqy

In each of the questions 80 to 82, there are tWo statement
(R). Choose your answer as -

(1), if both (A) and (R) are true and (R) is the correc
(2), if both (A) and (R) are true but (R) is not the correct €Xp
(3), if (A) 1s true but (R) is false;

(4); if (A) 1s false but (R) is true. |
805008 82 36% o BHoS* 23EE0 (A), 5600 (R) &3 Tod BIITITHE.
(A), (R) &0 Bodr d8gs0Hr, (A) G, 8GS 58 (R) em,cmé_(l) od;

(A), (R) @ Bodr 38g9dr, (A) G0§, OGS 56w (R) 5808 (2) d;
(A) 352, 0 (R) wd8g0 wond (3) @d;

(A) &350, 520 (R) d8g0 wond (4) ©; JobE Bobol.

t explanation of (A);
lanation of (A);

QD SIFT 08y

80. Assertion (A): Inurban areas, smog episodes occur frequently in winter.

Reason (R): A lot of biomass is burnt in winter by people for heating purpose or to
keep themselves warm.
QBHBEa0 (A): D | FodSnod® FE S0l Jodblon SESHm IosTe St
' ' DoZfAJro0m.

5600 (R): 3esrosinds® Huen, 3& Scko 398 8o 368 SFETQ) o Bom s
Q08" K S B g (biomass) & 570,

81. Assertion (A): The radius of a sphere is 3 cm. If the radius and height of a cylinder are
3 cmand 4 cm respectively, then the volume of the cylinder and that of the

sphere are not the same,

The volume of a sphere is equal to that of a cylinder when the radius of

that cylinder is same as that of the sphere and the radius of the cylinder is
th

2 of its height.
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A): Thesum of all internal angles in a regular hexagon is 720°,

" ASsCftloﬂ (
" . ternal angles of a regular polygon i (n-2)z
on(®): The sum of all internal ang es of a regular polygon is ~——/—
Reas .
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— ong for the questions from 83 to 87: . .
DHZ?E){'I:]SW following four given options are al.lke in a certain way and form a group. Identify the
one that does not fit with this group and write it as your answer.
g3 5008 87 $8% o HHO oS _
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84. :
(1) Guava (2) . Watermelon (3) Papaya (4) Apple
(1) K (2) 66 Do (3) DHHSH (4) fﬂncﬁ
85. | _
(1) 3,534 @) 5.7 " (3) 7,11,160 (4) 11, 13,290

86. |

1y (11,60,61) (2) (5,12,13) (3) (7, 24,25) (4( (9,40, 43) )
87, -\P/ :

(1) (N, 14) (2)@5) (3) (5,19 4) @®16)

88. Nitish is standing in South to Anil and is in North direction to Amal. Amal is stanfiiﬂg in
West direction to Sunil. Sunil is standing in South direction to Vishal. Vishal is 11 East
direction to Kapil. If Nitish is in West direction to Vishal and standing immediately after
him, then in which direction Kapil is with respect to Anil?

(1) South-East (2) North-West  (3) West (4) South-West
265, 6258 SEomH 500500 VG SIEBIS doad ST, WIS 58580’
585 dond &Y. IPEE GEBIS WIS Jond Gk, 288 S0 a3’ IS
ST, DTS IDBobS H85E BIS 8T Jond GHo0d, O
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o her West. Then she walks 15 meteys

§9.  Starting from her house Neclima walks 15 meters t tutfiee. Prot-the Dot

o -cach the pos
to her right followed by 10 meters to her right to ‘cagz meters to her right. Then, th,
office she walked 12 meters to her left followed by <t distance from her destination
direction from her destination to her house and the shortes :

to the post office are

m
(1) North-East, 4/73 m (2) North-West, 20
3) South—Weét, 473 m (4) South-East,20m
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Ina certain code, the n™ letter (n#15) of the English alphabet is coded as ;™ letter of it, where *
7 1s the remainder when 55 + 3 i divided by 26. (For instance, the 7 letter G i

28 JBRE GeS* solf BESSreS n Y &956‘:'\11 tn # 15)

IS o850 §8 Jach, aE & roIB,
Sn+3 226 B grhosm 5@ $o (Soirdnt, 75 8sms G L 58 3%, dodod

94 58% Ke EHOH 2arene sy Qsg0d.

90. The code for VICTORY s
VICTORY & 6

(1) IVRZYOX (2) IVRyzOX
(3) IVRYOZX (4) IVRYzxo

£ e
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91. The code for POLICLE is
POLICE § §&
(1) EZKVRB
(3) EZKBVR

(2) EZKRVB
(4) EZKRBV

92.. The one which is coded as YOUTH among the following options is

8ob osos® YOUTH m 86 swdss

(1) TRNAS
(3) XZDYQ

(2) TRANS
(4) TRNSA

93. If the code of a letter is its immcdiate succeediﬁglletter in the alphabet, then the pair of

such letters is
28 ©¥8o @y, §8, V§Eirod’ T 3HIoL Sod 53 eaédo wond, wirod

@iy =8
(1) LM | L) EK
(3) Y.P . (4 S.F

~94. The number of letters which are coded as their immediate preceeding letters, is

o°d8 EFo 500 @éc‘ci)gl, o & KOAS &séo"o dopg
(1) o QN | B w2 | @ 3‘\/

There are 5 persons P, Q, R, Sand T in a family with three generations. There are two
married couples in them. R is the mother- in-law of P; Q is not married to R; S is married to
T and T is the son of Q. Then the ratio of the male members to the female members of the

95."

Cd
0° family is |
Sapihrdore Sg8ed) e Sitvowod® 5 HK Sg8w P, Q, R, S, T oy, 38" o

o ird soteodnon. P &g, edméd R;R& Q8 Iairo s8&; T8 S & aodrdod
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The criteria for admitting a student in the first year of an engineering course are as given beloy,

The student must | D
(A) have passed XII standard in science group (stream) with atleast 80% marks.

(B) not have more than 20 years of age as on 1% August 2021.
(C) have secured more than 90 marks out of 150 marks at the entrance test.
(D) be able to pay Rs 25,000 tuition fee in I semester and Rs. 5,000 admission charges at the

time of admission.

In the case a student fails to satisfy

(I): (C)above, but he can pay atleast 60% of the stipulated fees, the case may be referred to the
Admission Committee.

(I) : (D) above, but he has secured 95% marks at XII standard, the case may be referred to the
Chairman (Admissions).

You are given the following cases as on 1% August 2021 in Q. Nos. 96 and 97. Give your decision,

based on the given information and do not assume anything. If the information provided is not

adequate, mark ‘data inadequate’. :

28 R02AB0A §ES*D S0e5es Dos)os® ¥ g8 BITA8 Ko JWoETHI 80d o a&y
Q8583208. " -J{;g
& S)G‘gg | - 9\6
(A) 28 5 (derrio)s* sb%0 80% Srép o8’ XII S 8668 h%a Gomo.

g

(B) 2021 ey 15 8638 20 nao.;'ie‘én)O‘o 505098 Do) GodsrEE.-Y
% (C) ©B4565S* 150 8 s 90 & 200D Sorciopens BENED Sod,
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fp born on 25" September 2001, secured 85% and 65% in XII standard in science

5md811 : ; vy .y
and at the entrance test respectively. Also he is in a position to pay the requisite feeg

stream :
and adnussion charges.

(1) Admit

(3) Do not admit
b Drgg 25 Dgoes 2001 & adx00, XH S818S™D ) DarHod* D, HIE 26855
s 85% 20050 65% B ), &0 gEFand. ©08mE BYoWSORS Daro, ©AIAS

’ (2) Refer to Admission Committee
(4) DataInadequate .

Fhosy §grioh §BS* ST,

(1) oays doETd | ) ©BIAS EDEE BoFO

PPBaS Sooskrdd | | @ st SosSests )

a7.

Student Q born on 20" July 2000, secured 85% and 75% at XII standard with science
stream and at the entrance test respectively. Also Q can pay the requisite tuition fees and
the admission charges ol

(1) Referto Chairman (Admission) " (2) Admit

(3) Do not admit : ' (4) Datalnadequate

g Qard 20,2000 &° 2D, XII E518S" D) Derfoes’, HDF HOFS K 1™
85%, 75% im0 BT, B306TS ber, @RS rhen 390D 3S° QEIB
(1) odghd (@3reo)s dFoowd — (2) ©dyS Bsad

07 OY el BREErE6 (4) sSrerdo H0HHSEBE

—_——

98.

Be

(3) ABEDC - 4)" AEDBC. _
e
LU ' ' a

Five persons A, B, C, D and E sit around a round table such that all are facing the centre of
the table. A is diametrically opposite to E; C and D are neighbours of A. If there is on.ly' ong
person D to the right of A and to the left of E, then a possible order in which they sit18

P Sg5e0 A, B, C,D, Een a8 Hogd Bend sy ¢ oo Sososs oDaneom

SréTth. @othS® A, Een argivd) §808g, C5dcsw Deo AGDE, FEoS ST
- P
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' ' / 8,
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Seven persons A, B, C, D, E, F and G stand in a fow as given below:
(1) GisbetweenAandE |

(i1)  Fand A have one person between them

(iii) E and C have two persons between them

(iv) D is to the immediate right of F and

- (V)  Cand B have three persons between them

The second person from the left i is
A; B, C, D, E, F 56050 G o8 ks Sgiaen 28 &%

@ A,Ee% $eges* G ek
(i) E Ao% S0¢58 a8 558 ey
(W E, C o% o85St wgdd Sgioen Gas

(iv) F§ $gmo 58 ©§5 D sab | .- AT
(V) C,B o 563" Somts S5 sand - €9
5% ©B&, $0d Do 558 . ¢ O~
1 ¢ (2) G ®»E - @ A
100. Consider the following ranks of police personnel in Andhra Pradesh.
(A) Inspector General ' (B) Director General
(C) Superintendent ' (D) Deputy Inspector General
- (E) Deputy Superintendent (F). Constable

(G) Inspector
BOPDBIS R & BIHS aQS FOS GA'ghe Tgoot BkEos.

(A) aRPE6 25850 (B) 38§65 =555 ©

(C) dr580BodolTH (D) &3rgs aq)ss =s65®
(E) agrges B0506080a0&%) (F) =% aaoef@)

(G) 23PEE)

The correct sequence of the ranks from the highest to the lowest cadre is
SEME zaﬂcm Sood @e’s é&bé oo S8 &od Trgodesd ,06&026 ESoo

(1) A,B,C,D.E,G,F €y B,A,D,C,E,G,F
- (3) 'B,A,C,E,D,E,G L (4) A,B,C,E,D,G,F

g oo
L 304
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Andhra Pradesh State Level Police Recruitment Board

Written Test for

iminary

Prel
SCT SI (CIVIL) (MEN & WOMEN), SCT RSI (APSP) (MEN) in

Police Department

Date of Examination: 19.02.2023 (FN)

Q.No | Set-A | Set-B | Set-C | Set-D

Q.No | Set-A | Set-B | Set-C | Set-D

51

52
53
54
55
56
57
58
59
60
61

62

63

64

65

66
67
68
69
70
71

72

73

74
75

76
77
78
79
80
81

82

83

84

85

86
87
88
89
90
91

92

93

94

95

96
97
98
929

100

10
11
12
13

14
15
16
17
18
19
20
21

22
23

24
25

26
27
28
29
30
31

32

33

34

35

36
37
38
39
40
41

42

43

44
45

46
47
48
49

50



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page




